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.0/1��	324�524� "76 8:94;<;)=?>A@ B�CEDGFIHKJ<DG=ML�B�CNFIOQPR>S=M=EHT>A@ B�CEDGFUHGJ<DG=WVGCEFS=N;�HGFUX�Y�J<=ZL<=�V[=E\�]<DG=�VGVKFI9^;)V[V_J<FS`3PR;�HK=�V

E = 3, 5× 108
× 0, 2× 10−10 F =

4 × 1012 × 9 × 10−5

1, 2 × 102

.0/1��	324�524� +a6
b^c 8:BN`^=N>S94]<]�=W=EHdDGB�L�J<FeV[>S=�V[=E\�]<DG=�VGVKFI9^;)V[V_J<FS`3PR;�HK=�V

A = 8 + 4(x − 3) B = 1 − 3(x + 2)

C =
1

2
(x − 8) + 5 D = 2(3− 4x) + 4(1 − 2x)

E = 3(x + 3) − 2(3x − 1) F = −4(x + 1) + x(3 − x)

f<cMg P4>SCNJ<>I=!Cih)P4CNJ<;<=!L�=�V?=E\�]<DG=�VGVKFI9^;)Vd]�94J<D x = 3 j =N;�J<HKFS>IFeVKP4;�H?>A@ B�CEDGFUHGJ<DG=kY�J<Fl])PRDiPRFIH:>ePm])>IJ)VVKFIOn]<>S= c
.0/1��	324�524� ,o6
b^cMg 9^;)VpHGDKJ)FSVqJ<;rHKDGFePR;<s^>I= ABC DG=�CEHGPR;)s4>S=?=�; A HG=N>*Y�J<= AB = 9 cm =EH BC = 15 cm

c
f<cMg P4>SCNJ<>I=W>eP!`tP4>I=�J<DT=E\<P^CuHK=ML�= AC

c
v)c?w =ZCE=NDiCE>S=ML�=xCN=N;�HKDG= B =EH0L�=xDGPty^94; BA CE9^J<]�=M>S=ZVK=Ns4On=�;^H [BC] =N; M

c)w Pn]�PRDiPR>S>Iz�>I=M{n>eP
L�DG94FIHK= (AC) ])P^VKVGPR;�H[])PRD M CE94J)]�=W>S=ZV_=�s4On=N;�H [AB] =�; N

c
g P4>SCNJ<>I=W>S=�V[>S94;<s^J<=NJ)DGV BN =NH MN

c
| cMg P4>SCNJ<>I=W>eP!>I9^;<s4J<=�J<D AM

c
.0/1��	324�524� -}6 ~�9^FUHQJ<;oCE=NDiCE>S=

C
L�=rL<FSP4O!zNHKDG= [AB] HK=�>dY�J<= AB = 12 cm

c�� ;aP4]<]�=N>S>I= O >S=
CE=�;^HGDK=ZL<J�CN=NDiCE>S=

C
c ~�94FIH

C′ >S=ZCE=NDiCE>S=ZL�=ZL�FePROnzNHKDG= [AO]
c ~�94FIH M J<;�]�94FS;�H0L�J�CE=�DGCN>I=

C
HG=N>�Y^J)=

BM = 4 cm
c<w PnL�DG94FIHK= (AM) CE94J)]�=M>S=ZCE=�DGCN>I= C′ =�; N

c
b^cM� J<=�>I>S=W=�V_Hd>SP!;)PRHKJ<DG=ML�=�VqHGDKFePR;)s4>S=�V AON =EH ABM �M� J)VpHGFUX�= cf<cMg P4>SCNJ<>I=W>eP!>I9^;<s4J<=�J<D AM ]<J<FeVdL�94;);<=E��=N;rJ<;<=M`3PR>S=NJ)DdPR]<]<DG9�Cih<BN=WPRJ mm

c
v)c?� 9^;�HKDG=WY�J<=W>S=�VTL�DG94FIHK=�V (ON) =NH (MB) VK94;�HT])P4DGP4>I>SzN>S=�V c

8:B�L�J)FSV_�A=�;rY�J<= N =�V_Hd>S=MO!FS>SFI=�J�L<JrVK=Ns^O!=�;�H [AM ] =NH0Y�J<= ON = 2 cm
c
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.0/1��	324�524� "76 8:94;<;)=M>5@ B�CNDKFIHKJ<DG=ML�B�CNFIOQP4>I=

E = 3, 5× 108
× 0, 2 × 10−10 F =

4 × 1012 × 9 × 10−5

1, 2× 102

.0/1��	324�524� +a6
b^c 8:BN`^=N>S94]<]�=M=EHTDGB�L�J<FeV[>S=�VT=N\�])DK=�VKVKFI9^;

A = 8 + 4(x − 3) B = 1 − 3(x + 2)

C =
1

2
(x − 8) + 5 D = 2(3 − 4x) + 4(1− 2x)

E = 3(x + 3) − 2(3x − 1) F = −4(x + 1) + x(3 − x)

f<cMg P4>SCNJ<>I=nCih)P^CEJ<;<=!L�=�V:=E\�]<DG=�VGVKFI9^;)Vd] x = 3VKFIOn]<>S= c
.0/1��	324�524� ,o6
b^cMg 9^;)VpHGDKJ)FSV[J<;rHGDKFePR;<s^>I= ABC DG=�CEHGP4; A AB = 9 cm BC = 15 cmf<cMg P4>SCNJ<>I=W>ePn`3PR>S=NJ<D[=E\<P^CuHK=ML�= AC

c
v)c?w =ZCE=NDiCE>S=ZL�=ZCN=N;�HKDG= B =EH:L<=MDGPty^94; BA [BC] ML�DG94FIHK= (AC) ])P^VKVGPR;�H[])PRD M CE94J)]�= [AB] Ng P4>SCNJ<>I=W>S=�VT>S94;)s4J<=�J<DGV BN =NH MN| cMg P4>SCNJ<>I=W>ePn>I9^;<s4J)=NJ<D AM

c
.0/1��	324�524� -}6 ~�9^FUHQJ<;}CE=�DGCN>I=

C
L�=�L�FSP4O [AB] AB = 12 cm OCE=�;^HGDK=ZL<J�CE=NDiCE>S=

C
c ~�94FIH

C′ >S=xCE=�DGCN>I=ML�=ZL [AO] M C

BM = 4 cm
c<w PnL�DG94FIHK= (AM) CE9^J<]�=W>S= C

′ Nb^cM� J<=�>I>S=W=�V_Hd>SP!;)PRHKJ<DG=ML�=�VTHKDGFSP4;<s4>S=�V AON ABMf<cMg P4>SCNJ<>I=W>ePn>I9^;<s4J)=NJ<D AM ]<J<FeVTL�94;); mmv)c?� 9^;�HKDG=WY�J<=W>S=�VdL<DK9^FUHG=�V (ON) =NH (MB)
8:B�L�J)FSV_�A=�;�Y^J)= N =�VpHT>S=MO!FS>SFI=�J�L<J [AM ] ON = 2 cm


